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Part 1 ‘
Fill in the blanks with the correct answers. (1 mark each)

1. Read each scale. Then, write the mass.

(a) pumpkin (b) turkey (c) slice of cake
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2. Look at the pictures below carefully.
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 distissimnveasnt.
a) The mass of object A is g.
b) Object _ is the heaviest.
c) Object is the lightest.

3. Circle the correct answer in the bracket.

The mass of the papaya is (less than / more thar / as heavy as)
2 kg.

Papaya




4. Study the diagrams carefully.

Arrange objects A, B and C from the lightest to heaviest.

AN /\
lightest
Part 2
5. Fill in the blanks with kg or g. (1 mark each)
(a) plastic cup (b) bucket of sand




Part 3
Solve the following word problems. Show all equations, workings
and statements clearly. (4 marks each)

6. A pencil case weighs 230 g.
It is 222 g heavier than an eraser.

(a) What is the mass of the eraser?

The mass of the eraser is g.

(b) What is the mass of 4 such erasers?

The mass of 4 such erasers is g.




7.

Study the following picture carefully.

Each durian shown in the picture above has the same mass.

(a) What is the mass of two durians?

The mass of two durians is kg.

(b) What is the mass of one durian?

The mass of one durian is kg.
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Measuring mass in kilograms/grams.

Qi(a), Q1(b), Q(c) and Q2(a)

Comparing and ordering masses.
Q2(b), Q2(c), Q3 and Q4

Using appropriate units of
measurement and their

abbreviations g, kg.
Q5(a), Q5(b), Q5(c), Q5(d)

Solving word problems involving

masses.

Q6(a), Q6(b), Q7(a), Q7(b)




ANSWER KEY

YEAR : 2021

LEVEL :  Primary 2

SCHOOL : Red Swastika School
SUBJECT : MATHEMATICS
TERM : Milestone Check 5

Milestone Check 5

Ql (a) 7kg Q2 (a) 100g
(b) 5kg (b) C
(c) 160g (c)B
Q3 Circle, less than Tapovja Qa B,C,A
Qs |(a)g n Q6 | (a) 230-222=8
(b) kg (b) 8+8+8+8=32
(c) ke
(d) g
Q7 (a) 6+3=9
9+1=10
(b) 10-5=5






